H 2 0l & ALY H Al A
202435 =& 1 3| Lut3|H A0t
A A4
M 2EES
o EEES (Ero|: X2l
2A -3 - A(FH) - HIRA - BEZ Ofl &toH J &3 N HuwsZ
PN 13,587,336 12,825,244 762,092
= 2,800,109 2,713,431 86,678
ras 549,000 549,000 0
7 3,023 2,837 186
[ 1,053,850 1,029,535 24,315
B 20,000 20,000 0
o 9,161,354 8,510,441 650,913
SEES 5,609,735 5,473,288 136,447
= 2,601,508 2,528,708 72,800
ras 549,000 549,000 0
7 3,023 2,837 186
& 951,140 930,429 20,711
= 1,505,064 1,462,314 42,750
SEES 168,025 41,525 126,500
= 62,800 0 62,800
& 20,800 0 20,800
= 84,425 41,525 42,900
SEE2s A8t 36,065 23,965 12,100
201 L2 3| 18,565 5,965 12,600
01 At=22t2ldl 14,065 5,965 8,100
OEAZ=MEXRRS |2 =2 X2
100,00024*7021%33] 2,100 0 2,100
OEtAEY 822 M
10,0002 *5007H4 5,000 5,000
OELSHTL2AT AL 1,000,000 %13 1,000 1,000
02 S=2Z| 4,500 4,500
ORIZ21)| YIHElEr2 EBAE MIIe3
500,0002*1CH+OR 4,500 0 4,500
203 ZRF&| 3,500 4,000 2500
03 Al F=RHRF=XIY| 3,500 4,000 2500
OsAEHAIY HRF=ZX 1,500,000 1,500 2,000 AB00
BHELEE Ol2A 1,400 0 1,400
& 700 0 700
o 700 0 700
401 Al&HIZ 20| 1,400 0 1,400
& 700 0 700
o 700 0 700
01 Al&H| 1,400 0 1,400
OAZIHLAH ST AUSEMNSEAIS
700,000 & %20t 1,400 0 1,400
[ 700 0 700
o 700 0 700
OILELRIAIE SXXHE AHS 113,000 0 113,000
= 62,800 0 62,800
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A SHERAMt
M FES
o EEES (Ero|: X2l
SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
= 20,100 0 20,100
o 30, 100 0 30, 100
402 RIZHXHE01H 113,000 0 113,000
= 62,800 0 62,800
< 20, 100 0 20, 100
= 30, 100 0 30, 100
02 RIZEXHEAIH 2 (0| X THEA) 113,000 0 113,000
OL7E AHE ZXIAIE &X K&
56,500, 000221 A 113,000 0 113,000
= 62,800 0 62,800
< 20, 100 0 20, 100
= 30, 100 0 30, 100
SHst e 88,700 33,000 55,700
= 37,600 18,000 19,600
< 5,880 1,500 4,380
= 45,220 13,500 31,720
EtAZOIEN JIIIF CIMEIE X3 36,000 0 36,000
= 18,000 0 18,000
< 5,400 0 5,400
i 12,600 0 12,600
301 LEt2d= 36,000 0 36,000
= 18,000 0 18,000
= 5,400 0 5,400
o 12,600 0 12,600
14 JIEIE &3 36,000 0 36,000
OEAHQIERN CIHEIE XI=
36,000,000& 36,000 0 36,000
= 18,000 0 18,000
== 5,400 0 5,400
= 12,600 0 12,600
NSXH SAHOIEN 29 3,200 0 3,200
= 1,600 0 1,600
== 480 0 480
o 1,120 0 1,120
301 Let2dE= 3,200 0 3,200
= 1,600 0 1,600
== 480 0 480
= 1,120 0 1,120
14 JIEIE &3 3,200 0 3,200
OXISXt EHAZOIER QIMEIE XIS
3,200,000 3,200 0 3,200
= 1,600 0 1,600
== 480 0 480
o 1,120 0 1,120
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A SHERAMt
M FES
el Jl2EeE S (CH: & 21)
SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
22X XJA 0 3,000 A3,000
o= 0 1,500 A1,500
i 0 1,500 21,500
402 CIZHRHE0|N 0 3,000 A3,000
< 0 1,500 21,500
i 0 1,500 A1,500
02 RIZEXHEAIH 2 (0| X THEA) 0 3,000 A3,000
O22Z XJAE o 0 3,000 A3,000
< 0 1,500 21,500
o 0 1,500 A1,500
MHEZ I|IERD| HSUH 19,500 0 19,500
207 AN 19,500 0 19,500
01 ¢H7EL| 19,500 0 19,500
OHMI3Xt AEZ JI=20| HEUHM =&
19,500,000 19,500 0 19,500
SIS otA2te] 4,251,651 4,297,611 45,960
= 2,501,108 2,510,708 29,600
o= 759,592 764,072 24,480
i 990,951 1,022,831 A31,880
&I XtSXE 00 X 758,060 797,000 A38,940
= 388,000 396,000 8,000
< 194,000 198,000 24,000
i 176,060 203,000 A\26,940
402 SIZERHE0| A 739,860 776,000 236,140
= 375,200 382,000 6,800
< 188,600 191,000 22,400
i 176,060 203,000 A26,940
02 RIZEXHEAIH 2 (0| X THE) 739,860 776,000 236,140
OFSPIPNE=pN el DAL
7,788,000 %95CH 739,860 776,000 A36,140
= 375,200 382,000 6,800
< 188,600 191,000 22,400
i 176,060 203,000 A26,940
405 KHAHE S| 18,200 21,000 22,800
= 12,800 14,000 A1,200
= 5,400 7,000 21,600
01 AR ESEFHSHI 18,200 21,000 A2,800
O3EXIIXSIE 704
9,100,000 *2CH 18,200 21,000 22,800
= 12,800 14,000 A1,200
o= 5,400 7,000 A1,600
&It SR 00 X2 2,210,180 2,224,000 /13,820
= 1,441,000 1,441,000 0
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A SHERAMt
M FES
2l AsSIHEotA2e| CEREEN
SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
= 393,000 393,000 0
i 376,180 390,000 /13,820
402 CIZHXHE0|N 2,197,000 2,210,000 A13,000
= 1,430,500 1,430,000 500
< 390,320 390,000 320
i 376,180 390,000 A13,820
02 CIZEXHEAIH 2 (0| X THEA) 2,197,000 2,210,000 /13,000
O&J|st2Xtsxt 0K
16,900,000 % 130CH 2,197,000 2,210,000 A13,000
= 1,430,500 1,430,000 500
< 390,320 390,000 320
i 376,180 390,000 A13,820
405 KHabE S| 13,180 14,000 AB20
= 10,500 11,000 AB00
< 2,680 3,000 2320
01 AR ESEFSHI 13,180 14,000 AB20
O3&&I|g2X=SXt 20K
13,180,000 1CH 13,180 14,000 2820
= 10,500 11,000 2500
== 2,680 3,000 A320
&MII0IEX 00 KI& 12,800 16,000 23,200
= 6,400 8,000 21,600
< 1,920 2,400 2480
i 4,480 5,600 A1,120
402 QIZERHE0| ™ 12,800 16,000 23,200
= 6,400 8,000 21,600
o= 1,920 2,400 2480
i 4,480 5,600 1,120
02 QIR AL B (0| M THS) 12,800 16,000 A3,200
ONI|0IEX FOHKIA
1,600,000 *8CH 12,800 16,000 A3,200
= 6,400 8,000 21,600
o= 1,920 2,400 2480
i 4,480 5,600 1,120
IS SHEAIL XA 10,000 0 10,000
401 AIEBIZL S008I 10,000 0 10,000
01 AlEHI 10,000 0 10,000
O&IISA SHAIE 7Xl2a
10,000,000 * 1Al 10,000 0 10,000
Az SeH 1,101,359 1,101,152 207
s 549,000 549,000 0
J| 3,023 2,837 186
o= 164,868 164,857 11
i 384,468 384,458 10
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2AM:
T ZH -
o e

chel:

>
=

ni;

Jx e rio

2 o oY

i [T 40
foi 0

o

=
=}

]

CHZH

SX - B - S2(3) - HRAY - LS IR Jl & o HInE2
AT oAl 3,359 3,152 207
J| 3,023 2,837 186
< 168 157 11
o 168 158 10
301 LEEF 3,359 3,152 207
J| 3,023 2,837 186
< 168 157 11
o 168 158 10
01 ASIBEE2HS(2DEZ ML) 3,359 3,152 207
OAcHIIoH Ml 839,630x4& 3,359 3,152 207
J| 3,023 2,837 186
< 168 157 11
o 168 158 10
oEE 25 745,806 717,412 28,394
= 53,878 40,000 13,878
< 19,493 15,889 3,604
o 672,435 661,523 10,912
ANHBREH 300, 149 261,449 38,700
= 26,100 8,000 18,100
< 7,830 2,400 5,430
o 266,219 251,049 15,170
NHASEEHMAISE FE 79,549 77,049 2,500
307 GI2+0I& 15,079 12,579 2,500
04 DIZHHAIAIEE X 6,500 4,000 2,500

OBASE MEsd 2K

2,500,000 2,500 0 2,500
OtZeItHXIgd 2AEE 7 52,200 16,000 36,200
= 26,100 8,000 18,100
< 7,830 2,400 5,430
o 18,270 5,600 12,670
101 Q1 24H] 14,220 0 14,220
= 7,109 0 7,109
< 2,132 0 2,132
o 4,979 0 4,979
04 DIt HIREXNSES 14,220 0 14,220
OdsED 2e| 14,220 0 14,220
0olE= 9,860 x4 A| 2H201x1322! 10,413 0 10,413
= 5,206 0 5,206
o= 1,562 0 1,562
o 3,645 0 3,645
0=E Xt 9,860 x4 A| 2Hx201%302 2,367 0 2,367
= 1,183 0 1,183
< 355 0 355
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SA: BEP M
M. To1sty 25
el NHEded (G| : M 2l)
SA-ZH - SA(3) - MRAY - BAS Oll uhoH & N Hlws2
= 829 0 829
0=01012 12,778,00021%4. 5% 576 0 576
= 288 0 288
< 86 0 86
= 202 0 202
0L 0IEIRYEE 453,0002%12.81% 59 0 59
= 29 0 29
< 9 0 9
= 21 0 21
0UEEE 12,778,0002%1.75% 224 0 224
= 112 0 112
< 33 0 33
z 79 0 79
O HES 12,778,000 %1% 128 0 128
= 64 0 64
< 19 0 19
z 45 0 45
022 12,778,00024%3.545% 453 0 453
= 227 0 227
< 68 0 68
z 158 0 158
201 L2 S| 37,980 16,000 21,980
= 18,991 8,000 10,991
= 5,698 2,400 3,298
z 13,291 5,600 7,691
01 AlR2eldl 36,930 16,000 20,930
OAXMEI B3R (MAs], 259 S)
12,570,000& 12,570 16,000 A3,430
= 6,286 8,000 A1,714
[ 1,886 2,400 A514
= 4,398 5,600 AT1,202
OAMMHEl eHHY S RE=Z
6502 *60kg*800t 2|+ 7 & 21,840 0 21,840
= 10,920 0 10,920
< 3,276 0 3,276
z 7,644 0 7,644
OYsSED Ath2
360,000& % 14 A+72 2,520 0 2,520
= 1,260 0 1,260
= 378 0 378
z 882 0 882
02 SS29H| 1,050 0 1,050
OWsa) M3
150, 00024+ 1 A+7& 1,050 0 1,050
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A SHERAMt
M osd 25
ol et Ed CEERD
SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
= 525 0 525
< 158 0 158
= 367 0 367
O SAESESL e 445,657 455,963 /10,306
= 27,778 32,000 N4, 222
< 11,663 13,489 A1,826
= 406,216 410,474 A4,258
OrEE sl 24 11,100 12,963 1,863
< 3,330 3,889 559
= 7,770 9,074 1,304
301 LEt2d= 11,100 12,963 1,863
== 3,330 3,889 AB59
i 7,770 9,074 1,304
14 JIEIE &3 11,100 12,963 1,863
O0lisE sHEll 243
11,100,000& 11,100 12,963 1,863
== 3,330 3,889 AB59
= 7,770 9,074 A1,304
OrM==1IcHOIZ AL 434,557 443,000 A\8,443
= 27,778 32,000 N4, 222
= 8,333 9,600 A1,267
i 398,446 401,400 N2,954
402 CIZHXHE0|N 426,557 435,000 A8,443
= 27,778 32,000 N4, 222
== 8,333 9,600 A1,267
i 390,446 393,400 A2,954
02 QIR AL B (0| M THS) 426,557 435,000 A8,443
OO =ZIIcHoIZAIE XA
426,557,000 426,557 435,000 A8,443
= 27,778 32,000 N4, 222
== 8,333 9,600 A1,267
i 390,446 393,400 N2,954
=2 949,252 916,252 33,000
AN 292 949,252 916,252 33,000
S5 2l 851,660 871,660 /20,000
401 AIEBIZL S008I 580,000 600,000 220,000
01 A&l 580,000 600,000 220,000
O=x6At SS3HEA BF IS o 0 20,000 /20,000
Z2AUBM(EAL LF) Al AIAE 242 69,970 16,970 53,000
401 Al &EHIZL LY 53,000 0 53,000
01 Al&H| 53,000 0 53,000
oISk ED| HHI(==2l)
53,000,000 %14l 53,000 0 53,000
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2AM:

= =

S
M gt
ol =gkt (CH: & 21)
SA-ZH - SA(3) - MRAY - BAS Oif o JE N Hlws2
&gt 1,298,084 1,039,637 258,447
= 69,600 69,600 0
== 50,797 50,797 0
BN 20,000 20,000 0
= 1,157,687 899,240 258,447
Mgt 1,298,084 1,039,637 258,447
= 69,600 69,600 0
< 50,797 50,797 0
X 20,000 20,000 0
i 1,157,687 899,240 258,447
zg d2F8 248,453 205,253 43,200
201 LEt23H| 51,110 45,710 5,400
01 At22teld| 13,560 8,160 5,400
=AHAXRHED| 2| 900,000 &*6oH & 5,400 0 5,400
207 AN 19,800 0 19,800
01 A1 =4H| 19,800 0 19,800
OSAZ2gHIIZ & UEHIIS =YL
M EtEd HE 89 19,800, 0002 19,800 0 19,800
401 AEHIZLSOHY] 120,000 102,000 18,000
01 Al&Hl 120,000 102,000 18,000
OgsHIIE =HMelAIS
300,000 *60E 18,000 0 18,000
NeE35 =S Ast 500,300 350,300 150,000
401 Al &EHIZL LY 425,000 275,000 150,000
01 Al&Hl 425,000 275,000 150,000
Oz suiote 8X1 XI&Ar
15,000, 0002 %25 I A 375,000 225,000 150,000
MES8E SAHAKNED| 22 AL 44,000 44,000 0
== 6,600 6,600 0
i 37,400 37,400 0
201 23| 11,000 0 11,000
01 At22teld| 11,000 0 11,000
ongss s=2sH%
10,0002 %1, 10074 11,000 11,000
307 212t01 & 11,000 11,000
12 QIZIRILIE = H| 11,000 11,000
ONEsE 2cl=Hu=R
11,000,000 * 1Al 11,000 0 11,000
401 AEHIZL O] 22,000 44,000 /22,000
== 6,600 6,600 0
i 15,400 37,400 /22,000
01 Al&H| 22,000 44,000 A22,000
OMEEE +=HIHED| &X
22,000,000 10 A 22,000 44,000 A22,000
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-~

e i
o

o o oY
My A> H0
o i 0z
I [ 1

2A -3 - A(FH) - HIRA - BEZ Oif o J &3 N Hlws2
[ 6,600 6,600 0
= 15,400 37,400 A22,000
HIIZXCIAE FHAD FLIXRA 81,000 35,000 46,000
402 QI2EXH=0|H 81,000 35,000 46,000
01 CIZFXH=2 A B2 (XERITHS) 81,000 35,000 46,000
OFAL X2 24 81,000,000 % 14! 81,000 35,000 46,000
otd & ot MeD| EatAr 112,247 93,000 19,247
= 65, 100 65,100 0
o 47,147 27,900 19,247
101 2l24b| 107,593 88,346 19,247
= 61,842 61,842 0
o 45,751 26,504 19,247
JIZtH2Z2XSE+ 107,593 88,346 19,247
Odtd 2 ot MD| HSAIY ol
78,8802 %4401x31 107,593 88,346 19,247
= 61,842 61,842 0
= 45,751 26,504 19,247
2D | =2tel 4,060,564 4,262,334 A201,770
= 12,400 12,400 0
& 12,400 12,400 0
o 4,035,764 4,237,534 A201,770
MEMY D] 2te] 4,060,564 4,262,334 A201,770
= 12,400 12,400 0
& 12,400 12,400 0
o 4,035,764 4,237,534 A201,770
MEMY D] A 966,669 1,130,899 A164,230
201 L2 3| 18,010 14,910 3,100
NCEEE 18,010 14,910 3,100
O3 3R% S41288
31%8+100,000& 3,100 0 3,100
206 =4I 189,085 261,415 AT72,330
01 =8l 189,085 261,415 AT72,330
oMo SHM=EE M= 179,380 249,100 69,720
0Bt (32IH) 30=%10,0000H 300 600 A300
0Bt (521H) 36215, 0000H 540 1,800 1,260
02BtE(1021E) 4421%10,0000H 440 2,200 1,760
0L BHE(1021E) (HALS)
48275, 0000H 3,600 7,200 A3,600
0L B2 (2021E) 6621%25,0000H 1,650 3,300 1,650
02EH=(20218) (THALR)
6721%250, 0000H 16,750 20,100 A3,350
0Bt (5021E) 14321%100, 000 0K 14,300 21,450 AT7,150
02 Bt (202IE/OHTH) 530245, 0000H 2,650 5,300 A2,650
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£A:
PSP R
e

ZR A
2HOIS2el
EMeD] 2e

_,_

0% 0% o

SA - EH - (32) - MISAY - BAS IR o 2 Hms2
02Er=(502|E10HCH) 600 *220, 0000H 132,000 180,000 48,000
OsAEMYD| SHHEFE S A 4,705 7,315 A2,610
oSASMYDISE(32IH)
292 *5,0000H 145 290 A145
0SAEMYIIBE(52IH)
40215, 0000H 600 1,000 A400
0SAEMYDISS(1021H)
55& %10, 0000H 550 1,375 2825
0sSAlEMYD| HRES
31&*110,0004 3,410 4,650 1,240
405 KHAHE S| 411,000 506,000 /95,000
01 AL =SS FHSHI 411,000 506,000 /95,000
OQMEMY D] =HIE 405,000 500,000 /95,000
OHEmIIZ = ItNEH
105,000,000 *1CH 105,000 200,000 295,000
HOI233HM2ANE2E 1,955,959 1,945,599 10,360
101 eI244| 427,534 426,534 1,000
04 DIt HIREXNSES 427,534 426,534 1,000
OME=Es d8aYy 21FY 248,006 247,106 900
0II2HHI2Z2 X SE4HLEE
100, 0002 *92! 900 0 900
OUEE FHXSA YA o1L 16,723 16,623 100
0JI12HHZ22X SE+HZEE
100, 000241 100 0 100
201 et 3| 1,057,805 1,033,805 24,000
02 2224l 919,381 895,381 24,000
Oy =L IN:]! 420,090 396,090 24,000
0FAXIE =& |2 &
4,000,000 *6CH 24,000 0 24,000
202 O4d| 13,400 13,040 360
01 =U0bI 13,400 13,040 360
OFB22 HAXE L|P2FX
37,500 21#201%24 3] 1,800 1,440 360
401 Al &HIZLROHY] 210,155 225,155 15,000
01 Al&H| 210,155 225,155 15,000
OsZEHDI2SEHM2E FUHAY 5 S5 BF
ol= ol 0 15,000 15,000
L22AE 29 1,075,936 1,123,836 47,900
201 LBt AY| 372,476 370,376 2,100
01 At22teld| 172,120 170,020 2,100
OLZAE LRNEFRARS B3N =L
100,000 %724 *33| 2,100 0 2,100
401 Al &HIZL LY 204,000 254,000 /50,000
01 Al&Hl 204,000 254,000 /50,000
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2AX:
X{XH -
o e

chel:

=L
20

Nl
=&l

13

0% 0% o

2
M| 22

2A - - HR(SH]) - NISAY - BES Of| &toH Jl 3 o Hlunsz
OA2AIM BISTH BiE 21410101 Al
50,000,000 *1CH 50,000 100,000 250,000
MNLes (s 587,325 79,751 507,574
HEHH K= 79,603 79,751 A48
HOIZ2X2AIEIISEES 79,603 79,751 A48
702 J12HEES 79,603 79,751 A48
01 JI2EES 79,603 79,751 A48
OHPISXM2IAE FHISXAII2S(SAS
U MYD|ISE HZITOHHS| 10%) &2
79,603,000& 79,603 79,751 2148
I=RSONES 507,722 0 507,722
Bx32 gE32 507,722 0 507,722
802 Bret=2DIEF 507,722 0 507,722
01 =2 X38HE=2 337,572 0 337,572
20224 2782 AMHE HXIAE AX XA
o AIBHRIOH(O| KHEE) 206,979, 4602 206,980 0 206,980
02023 OMM=S TIOHOIEY AFS Of KHehAyoH
91,090 92 0 o
02023 HHIY $=HEAS AIY TSEH(Q|
KtxEst) 1,723,750 1,724 0 1,724
020234 THEEESZINE XSAAIY D&
oH(Q|XFEE 216, 1508 217 0 217
020238 JIEE NsA 228 AX| XA
TSROl 20,040,0002 20,040 0 20,040
02023 A2 AFAE UXIAIE AX| X2 A
o FaH ol 658,9402! 659 0 659
02023 ASF CHSAIZE (AIZTHF & HIALMIX 2
BIAIY & SHROK(OIRIELEE)
4,325,530 4,326 0 4,326
02023 EtASZTHQIEHM(UILIX) QIHEIE
KISA EHTH(O|XIEE)
2,787,110 2,788 0 2,788
02023 EHASEEIEN(XISAL) CIMEIE
KISA ESHTOH(O|XIEE)
326,300 327 0 327
02023 MESSUIOIE XIZAI O AHeAY
o4 58,0008 58 0 58
020218 MI|XHSA B2 AIE ESHEH (0] K
Z8) 55,096,000 55,09 0 55,006
02023 EIIXISA 2ES ALY ZSHZEH(O| X}
IS 29,800,0002 29,800 0 29,800
02023 0fel0] JISAE MetHe|d SGA
& ZSHEH(O| K& 207,180 208 0 208
O22" 28 UIEIIA M2HAFY & & &HoH(
OIXF Z&) 15,256, 6502 15,257 15,257
02 Al - EHIBZZEtE=3 170,150 170,150
02022 A2 AIHE SXIAIE SXIKIZAA
of ZBEOH(0IXHELE) 66,233,500 66,234 0 66,234
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2AX:
PSP
S|

3l
Hess (234
SIS

2A -3 - A(FH) - HIRA - BEZ Oil &red J & N Hus2

020234 A2 AFHE HXIAIE AXIXIE A
S XIS XtoH 204,430 205 205
0202345 OtM=s=E L2 A IR At Ot
Ao 21,0002 21 a
02023 OrMHESE LIGHOIE AF O KHetAHoH

27,500 28 28
02023 ASF HEAIZ (AIETHF L HIAKKIX 2
BI) AN &EHRFOH(O| XKL EY)

1,297,450 1,298 1,298

020233 MEHI|E =2lthiEs S<R0IAY &
SHALOH( Q| KIELEL) 2,940 3 3
02023 EHASEAEH(HUX) HEIE
K2 At ESHEH(OIXIEE)

832, 7402 833 833
02023 EHASEIQER (XHSXH) QMEE
K2 At ESHEH(O|XIEE)

97,8902 9% ®8
020233 MHEESUIOtE XI2AIY Ol XHeHA
o 24,0002 24 24
02023 HHIY $HEAS TEHAH(0|XHE
&) 1,723,7502 1,724 1,724
02023 =S MEBHHIN S A & (0]
Xtz st) 565,220 566 566
020233 AZFUY LASE XY T
&M (0| Ktz st 6,538,010 6,539 6,539
02022 HII|KSX B2 ALY ZEHEHH (0| Xt
Zgh) 83,132,0002 83,132 83,132
02023 MIIKISXH ESALY TEHEH (0| X}
& 5,010,000 5,010 5,010
02023 0{210] JISAIE M|’ 2AL
o BTN (0| XL E) 207,170 208 208
02023 AFSIFIAHIZIITR ALLHEHZ NS AL
ZISH RO (Q| K} E) 710,630 711 711
O2E 28t HHEIIA KA ZISHEHH(
OIX+ Z28h) 3,515,410 3,516 3,516
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